Total No. of Printed Pages—15
~ 24E—LOPH

2024

LOGIC AND PHILOSOPHY

Full Marks : 100
Pass Marks : 30

Time : 3 hours

The figures in the margin indicate full marks for the questions

ALLOTMENT OF MARKS
Q. No. 1 carries 1 mark each : 1x12 = 12
Q. Nos. 2 to 13 carry 2 marks each o 2x12 = 24
Q. Nos. 14 to 23 carry 4 marks each : 4‘>< 10 = | 40
Q. Nos. 24 to 27 carry 6 marks each : 6x4 = 24
Total = 100
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(2) | (3)

1. Answer the following as directed : | 1x12=12 (c) There is no distribution of term in propositidn.
| ( Fill in the blank )
wers fanaRy FetepiR Te f
: B T oS (AT M WY «=A |
ﬁz&‘*ﬂaﬂﬁ. NIRRT EE e :
| | : ( AT 9 o[{9 T )
i ey e for :
| I I 7 TG WA
_ BRICEMEREIC]]
(a) Logic is an art / a science / both science and art. ( & )
( Choose the correct answer ) TTETETE e R TR
wREm o | Rem [ 591 e Ren TerR | - ' , ( G ST ATy W )
(W= Te0h1 IR Sferean )
wRem a1 / Rem | v 93 Rem Tek |
| (om o7l @R e )
qReRfEE anfy / Rfem | s Y fafram ) (d) Either Radhakrishnan is a philosopher or a politician. It is an

example of disjunctive proposition / conjunctive proposition.

(9 el arra' fog )

( Choose the correct answer )

T T o TR SR AERORT | G R o/

(b) ;It;l:lzec.:opula of a proposition is in the past / present / future e T BT |
( Choose the correct answer ) ( w% Tkl AR Tftean )
Wﬂgwq@@/mm/ﬁmam'ml mmqwawmwmlqﬁ b Reaee
| (% Tavehl R Sfe ) | /R [ TRCAES T ST |

wmmmw@@/ﬁm/vﬁmwmu ' I (o= TR @R s )
(o Teafb ez e ) QU A AR O TRt S A st s /

e o S o/ /T PRem e A R |
(e T wEE T fogm ) (M Rerrre v’ Rg )
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(4)

(e) In immediate inference; the conclusion is deduced from one /
two / three premise(s).

( Choose the correct answer )

wmwmﬁmaﬁ/zh/ﬁsﬁﬁwwwﬁ:a@

EU

(o= Tah! AR Sieq )
S et Pl @@/ /R s e Ao
][ !

(o= Teqlb g e )

Rtek 7 o e NPk A [ A ) S s
B W g

(et ot wme'ar g )

(f) The prédicate of the conclusion of a syﬂogism is called major
term / minor term / middle term.

( Choose the correct answer )
TR S Frae R Mgem / oFwom [ @gem @ |
( o= Teehr AR Bhvea )

T SIS P Remes Fem [ *Fom | cagem 34 |
| (w% Tl aeg e )
mmﬁmﬁmm@mm/m@m/
R A g T
(71t R v’ g )

(5)

(g) Mention any one valid mood of second figure.

2@ g R e b1 t3y 9 Temy
fa®h A @ @ 93 3y IS Teay FeA |
AR Tl sraRasEn Ba gietE ek wE’ |

(h) What will be the truth-value of qu,.if both p and q are false?
quWWi’ﬁbvqawﬁsi’a?
p §R q TSR TS TA p v g-97 TORET NI ?
IR p IR g 30 WA FE@@ TR pv g W ITSRAT | STRTH ¢

(i) What is the derivative meaning of the word ‘epistemology’?
‘Epistemology’ *Riti Jeifeere wief R 2
“Epistemology’ 58 Jeefesrs o 2
‘Epistemology’ ®ava I« 3fifeen @?

(i) Who is the founder of Sarhkhya Philosophy?
ARY TR fSuTer (P ?
e iR 2l 32
qies g TRt Wk

(k) State any one point of difference between Rationalism and
Empiricism.
3T o SfreRTE Tere 3 R I @b ofief Teas w0
T ¢ ST T (T (G G370 1T BTy I |

e AR TWrEERf e amE saiesmE 9 SR
o |
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(6) (7))
() How many Pramanas are accepted in Nyaya Philosophy? 5. Define class membership proposition with example. 1+1=2
TR TS (IO A FIR I 2 THRIPTE, 4N STETe! I el i |
T e TG 21 TR I 2 e, At STl I6CR SRR TG |
= GRS A THIGRE! THEAE ST Y =Ty ArE T A g R e
6. Convert the following propositions : ' 2
2. Write the name of two logicians who have contributed in the '
development of modern logic. 2 e el IONCIRT TS T
YT SHRTITT RIS S SIS (o SR A o 1 | ; fRafeiRe Iorer THIe Fa
YA SR R S PRI To © $RE TN T | ‘5 TRAM STETRRE A
Tier GRAfARET st g o e gReii g g (a) All philosophers are wise.
e AT = Wi |
wiee WS ZEH @M |
3. State two advantages of the use of symbols in logic. 2 e TR S
SIS AT I }fl?l PR e 1 : (b) Some scientists are poets. |
SR 28 IR b T Tea e | g tefae =W IR |
ST e R A T R | e TR T I
| TR Rl s gemiRl
4. Classify proposition according to quality, ) 7. Define middle term with example. 1+1=2
@9 TP o9 CHiASTEH 9 | TIZIPTE (RGPS e |
2 S ToeAa AAISIEH A | 1 TR (RPICTA K e |
1 .
‘ e G wrE AR v
T iRy ety Tl T el
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8.

(8)

Give an example of fallacy of four terms.
vooef CreR 91 et |

SoTofl (TICTA D SHIZAT 718 |
AR At TR AR Rl 8

9, State two points of difference between logical constant and variables. 2

10‘

ll.

P SRR T ARIST Vo 7! <N Tewy I |
o9y SRR ¥R RIS T T N Ty FA |
e Rdm o1 Wemg i A BT R

Define conjunctive function with example.
OHIRIPTR AP Forid el il

BIRATTR TGS FoqCTa FKeH 718 |
TR ST A ge AR wrem|

Write the name of two empiricist philosophers.

Ww@wﬁmﬁmwﬁw
o ferer APRCE T G |
vﬁﬁthwmvﬁqiqmﬂﬁrﬁﬁg%u

12. Define Pirvavat Anumana with example,
SrRRepTz ffae S kel i |
TrregepTE, s SIHICT RS S |

1+1=2

1+1=2

(9)

13. What is realism? | 2
T R 2 |
Bl
et @ e geN?

14, What is symbolic logic? State two points of difference between
traditional logic and symbolic logic. 2+2=4

ABTRT SHRER IR B W2 TR SHREN W AONE
SHRWINT A& (oI ~14 Seay 40 |

ANPNT HRTE WO I QAR 7 R RS GR AE
THRCT T i 1% TCEY FCA |

ﬁwﬁqgﬁﬁﬁﬁmnm@g@?ﬁamgﬁﬁﬁﬁmﬁmﬁﬁuﬁgﬁﬁ%ﬁmnﬁ
R BRI R

15. Explain Four-fold Scheme of proposition. 4
o1 S fRere g 30 1
o0 ST ReTee I FC |
o & frrifea® amE T s R

16. Reduce the following sentences into strict logical form : 4
o APTES SEREFPTIS I5ea Fo T
N7 ISR TEREPTIS I FTI I

(a) Learned are honoured everywhere.

fam 4 *ff¥r |
fagm & & |
wify S R
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(10 ) (11 )
(b) Many persons are not present at the meeting. 18. State any four general rules of pure categorical syllogism. 4
gl MR TeTe Toifge wifte | ’ S e R R e siRo TaRe fRaw Say w4
SEAF TN eIftes S e | i RRCors WIR @ e ol MeRer e STEe e |
el AFRY STHRE FoRRmE | TS grErEE 19 =i SrRasmn dhs w19 R
(c) Nobody can do it. 19. Write a short note on figure of a syllogism. | ' 4
(IS B! PRI IR | ‘ TRR TR ST b1 5 (BTt foral |
B B T A | . T FER TooE qFb TR BT @0 |
=y gremef gEE WA Ry
St TEE! WAl g Y fergem fom)
' - - | 20. Reduce any one of the following syllogistic arguments into strict
(d) Only graduates are eligible for the post. 7 logical form and test its validity : 4
(FT FOPTICAR G 7T I (090 | | fafiRe T S R QI @ SHREHe 9o «Rae =
(I WOFAIR % TR & (10 | T W] [ge Mg
? ffiRe T SRR @ @ T SFREETTS et AR
Graduates el 3 WY arem™ emafy | | ] R < 3 e A ¢

g = SRR STaReTn e e e

17. Define proposition according to traditional logic. Explain different ) -
(a) Aristotle was a great logician, because he was a philosopher and

parts of a logical proposition. 1+3=4 . i
' all great logicians are philosophers.

oeIeTe SR SRR T S A | 41 eReTre T R | | GRE’5 e OleT SRR R, TR (o8 G TR S SR
SN AP 40| | o6 THRTR AT | '
oIS SHRTH S IR FKE WS | I SHReeTITe 5t ‘ wfReshe R e e SHiw, sma RN gvem e O
Ry sl R ¢ | | s Rre S R |

o e i e e g9 R R g | e R PR gfeRE, A R T ahf o e
STEPTHRE! BRATET fort) | Sftwerfear i awff
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( 12 ) | ‘ (13 )
(b) He is not sﬁperstitious, because uneducated persons are 5
- : » 4. What is the derivative meaning of the word ‘logic’? Discuss the utility
superstitious and he is not uneducated. o f the study of logic. 246
@@Gﬁﬁﬁaﬂﬂ'ﬁ%mﬁﬁﬁﬁﬁﬁﬁﬁﬁmﬁGMHﬁéﬂﬁﬁﬁ
S ’ | Logic’ *ebm Jeofoe e 7 SRR SR Tifon R
HIcersAT 91 1 |
R RN T, TR AFRFeA SRR @ FfR wFfES 71 | o ~
‘Logic’ *foq Jerifesre o § 7 w#Rwm SyEeR Sfer Re@
RrreT SR BRI 1, TRA BaiE MRPRE S G AT FCA |
I Rreret Aiatam M T
‘Logic’ @R&H {ﬁ ﬁﬁm m? JReRfEER Rif @R g
21. Write a short note on metaphysics. 4 Or / 71331 / T/ T
kR e 2 ¢or feran Define proposition accordi.ng to modern logic. Explain different
SRR T @3 AR B e | | forms of compound proposition with example. 2+4=6
JeeniErd SR ged R YT '*i3WWWﬂmm|@mwmm
: TIRE CICS I 90
22. Explain any four characteristics of Indian philosophy. 4 YR SHRE SPIC IR TR 7S | P TR W 2Tz
| %W&WR3WN¢GH
S iR R e ST C3FEs e 4 |
sﬁﬁ%ﬁmmﬁ TR s gERg Rl S smomR
SRS TR (1 I BrAfD TS I FA | i@h@mﬁﬁﬁﬁhﬁﬁmmmﬁnu T3 I
wmmﬂamﬁﬁmM@mmﬁhéammﬁml
23. Distinguish between Svarthanumana and Pararthanumana. 4 | 25. Deﬁm? syllogism. Describe the structure of pure categorical
. | sylloglsm. ) 2+4=6
ofpT OF o T 1<l (TS |
F fr 7 el A | i TR S 9 3 <
K| R, SRIFICAE TCg 214 e |
Wﬂ TER RS e | o FRRCPS TR 9% 6 T |
ma  erfER - fEE (Svarthanumiana) ¥  WRAERER  frEw )
(Pararthanumana)ﬁ e wRm R | = g3 o) {ﬁmﬂﬂ U HE@! B o)
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( 14 ) (15 )

Or / 7&at / &< / Tl 27. What is Rationalism? How does Locke criticise Descartes’ innate
Give examples of each of the valid moods of the third figure. 6 ideas? Discuss. 1+5=6
o e 2Tl t3y Y Bt Tz fan | | w2 o R (ST SREETS GRS FRCR, SCAA!
o iR 2 w3y IR ol e T e | o
ot Tl R e arariRR e R e | Foam 2 o T PO (CINGT TSH© RN A I,
SHICAOT AT |
26. Describe the characteristics of symbolic logic. ' 6 a2 AT gEi? Tl AER SHRMA RIS riE fafret )
HORPIRF SH R TR
FRPTR Or / %1 / &< / T
ASPIIT SFRETT (ARG I XA | N -
Yai gReffrE ST R R What is Idealism? Explain any four characteristics of Idealism. 2+4=6
| SIAM I AN ? OIRAME R (el o101 ¢3RSy e 41
Or / %1/ &%/ T&l
| B FIE 3041 ? SIRATE (T CRICA1 B 3B i <l |
Construct truth table for any three of the following propositional gt (eamfm) ara g’g?[? RN SEfesrn G
forms and determine whether it is tautology, contradictory or T /R |
contingent : 24+2+2=6 |
wos i NEE SenRd od R @ R e el o * ok k

I IR FOIT, TosR @ SRETWRAE Py 3

AR AT PR Q@ @ @I oon o iR a5 s
G (2% FoT), o 71 SARHETHRFE O e e

TEEE BT STHTEER AR SRR AR 9R wiier
Waﬁ%ﬁr@?gﬁmﬁﬂeﬁ,gﬁmﬁﬁaﬁmmwﬁwz

(a) (p-q):(pD~9q) ;
(b) ~pvig>D~p |

(c) pOg=Fg>D~p

(d) pO(p-9
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